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A 1.1come 2.likeshamburgers
B 1. 20 2.=%0f
C 1.verywell 2.verybeautiful
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2. TEAMEE0],2] 0f20] Z/ofof Bt

1. Yumis Z0f The pretty girlg 25 MYst= 20{oct,
2. the flute= SAt play 2| Sxofo|ct,

1. very well2 SAt singsE $-Al5H= 44l0f720|ct,

2. very beautiful2 ZAtflowersE #-Al5H= 4-4l0j720|ct,
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1® 02@ 03 We liveinSeoul. 04 What’s his

name? 05® 06isabigcity 07@ 08getup early
inthe morning 09®

(=]

Z012F SAP AU SAtoll 2Bt EXoiLt 2ot U= 2YE

ColS0| LYt M2 2040 2H0| £[0] ojn|E 2| Elok 22

22 2% 20 23H(0)E 2k BME2 FOHSAHEN(E

=

il

=]
o T

|_|='=|_

ro
HO

pS|
x|
Sxfo| A ZAf= HEXIZ M1, 22 O
3
o
s

ﬂomwf Ofcl §F LHEXIZ MX| tom, o|2&0|
o= 282 o i 28572 2tk

D~@= 25 FHoll EEfEE?_ BAIE PAIGHE $A0{0[X2H B=
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Unit 02 | p. 15

A 1.1 2.are 3.He 4.are
A-11.is 2.was 3.We
B 1.were 2.was 3.was 4. were
C 1.was,am 2.Youare,are
D 1.She’s(Sheis) a baseball fan.
2.I’'m( am) from Chicago.
3. They were in my class.
4, We were in Egypt last week.

A 1~3.I=am, You=are, He= is2t oj22ich,
4.Your handse 3218 20|22 are 2t 0122IC,

B_ am,is9| 274=was, are 2| ni7{= wereolct He, The concert
= 3013 th022 wasyt et Wee 1218 24 They= 3

QIF 20|22 were 7t LAT,

C_ 1. Fo{7} 121 |0|m OFEQ| Y(TAH)0I22 beSAt TiAE
was, 07t 1213 0|1 ‘KIZ' 2 &xH0|22 be SAte| SiAHE am
0| gict

2. ‘U= ~olct’ & You are ~.2 UEILHT Your twin sisters
=50|22 beSAtare7t Loict

D_ 18Il | am, He (She/It) is, We (You/They) are
|2t7] I (He/She/1t) was, We (You/They) were

Unit 03 | p. 17

A 1.She was not angry.
2.Spielbergis not an actor.
3. Are they your grandparents?
4. Were you in the bookstore?
A-11.They are not brothers.
2.ls Carola programmer?
B 1. Areyou, Yes 2.ls,isn’tisnot) 3. Are, No,
they 4.Was, No, he
C 1.isn’tlis not),is 2.isn’t{s not),is 3. No, isn’t
(isnot) 4.Yes,theyare
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4. Mike and Lisa= 3212 40|22 beSAt= are S £t
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B:otL|L. tt Susied2. JennyE L (S40l0lL.
A= 7| ofl ute?
B:ot|Q, Eof AAL,

=  Are you ~?72tn SRS mf T=p0|H CHES Yes, | am.
E= No, ’'m not.2& 322 you aren’t — I’m noto| &l
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A 1.We 2.1t 3.His 4.Her
B 1.my 2.Her 3.Mike’s 4.of)apan
C1.0D 2.B) 3.(O
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A 1. LS Z85tn FHo |22 We st gttt
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3. ARZ0|1 HXjo|=2 Hisyh Lot
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C_ 1.(D) him—his
2. (B) yours —your
3. (O) the restaurant’s —the restaurant
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A 1.This, That 2.This, Those 3.These, That

B 1.Thisis 2.Thoseare 3.ltwas 4.ltis

B-11.That 2.this 3.Itwas

C 1.umbrellas —umbrella 2.That—Those
3. That—It
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A_ o] Rl e this2, Boid U= A that2z Ji2i7ict

these= this2| 24 those= thate| £40lct,

B 1. AREES AJWE mix this/these 2 72|74 Zsict,
2. A2 = mo| &t 20|22 E43OZ #rt,
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Thoseolct.

3. EME Lot Qlea 2 Fof= Itolck,

=
=

D M| A: 25 DMt ofmL?
B: |7} L.
A 0|RZ {2 R4t0[L|?
B:g, 1z
= @ this/thate& 229 this/thato| ol itoZ CHElSHC
R T p. 22
01® 02® 03 Wasthe game exciting? 04 @

05@ 06She 07 We are notlaren’t) high school

students.
@ltis 100

08 Was Mozart a musician? 09 (1)hers
1M1@ 120 136G 14@® 150

16 17@ 18 @ 19Q 20 21weare 22Q
23Q 240
25 (1) is a music teacher (2)is a high

school student

(3)am a middle school student

26 (1) my sister (2) Her name is (3) She is not tall,

but her favorite sport is

G

N

27 @ 28 This is, Her name is, She’s, her, is, is, are,

me

VoOoNOOBR_RODN

12
13

14
15

16

17
18

(FZ-=xz)9o| AoICt. @ hise hedl AR2 ARHBAOIC,
his — him

® Jane2 3018 H40|22 beSAlE isS £Lt

beSAte| Q222 beSAIE F0{ Yo = HiHCt

@ this ist this’s2 £0{ MX| gh=ct,

Mr. Kim2 gxlo|1 0{ X2|0|22 He7} Lot

a daughters gh= 20|22 She7t alct

beSAte] 222 beSAL Fof notS £ct

beSAte| S|2E2 BeSAHF ~7?,2| 040]Ct,

(1) AR} = ARZHEAL

(2) 4ME LI Of itS FOi= &Lt

This is ~: 0|2(0] M) ~o[ct/ Its: Ite] AR

FHLiCH ES4lojL= &R0 0l= &Ao2tn giilecoz 23| 8¢
0| &gttt Are you ~?2 T 217t Fofl ’'moz ARkgHon
2 2Ho| tie2 No, I’'m not.olCt,

Lfo| o|Lb= ER0l| 2™ tiERieo= mine(Lel Zd)o| Laitt
@, @, @2 F0i7t E40|1, @= 22Z0|=2 are (Are)7t Lt
Lt ®2] #0f that2 3213 H0|22 |sE #Lrf

wasZt UA0|=E, 0[2hE LIEI= tomorrows= LXK 4Lk
@ ARAR2 ~of 2t= o2 FHoi| APt 20t ARUHAL mine
Lto| Z¥ojzk= o2 Fofl AL S & itk mine — my
Aol beZSAPL are0|22 FOZE 221E0[Lt 2480 2
It My best friend, Tom2 3Q1& ©0|22 beSAIZ is
7} 0f Bt

@& ~ofl UCt 2k= 20|01, LIHX|= 25 ~0|ct 2k= 2jojo|ct,
@ my father'se 3213 0|1 AR20|H H40|22 hisst

rt] rlo

30



etatct D — We, ® — them, @ — hers, ® — us

19 wasE beSAtel A amat isQ| ni7&ol2z Foj2 1213
3Q1al9| chaEat 2 4 ULk @2 F0f the movieZt H0|2
2 Was7t 2i0f sf1, LIHX |z 25 F0{7t 240|122 Were7t
QLo it

20 Limxle 2F HQIE FOE 22D M @ 2% @ IY @ 2
£ LEHHT SHAMGHER| §4XI2E @2 It2 “T7 0l2k= S2of XA
AO|CL,

21~22] A | M5 : od, Nadira, R2l= 22 Hiolof!
Nadira: g, %oH
AlZ : 22| 3 10| Fo{ok Hof matAZ Xt
Nadira: 7124, 7t}
Nadira: 22| Fo{ matao| ofcjof?
MlZ : 2150[0F 784 WA,
Nadira: 22| B0of Mddo] F=7M?
A= : & Mook ME2XE
Nadira: €401,

21 ME7t ‘2l= 22 ool 2tn 2t 2ol Nadirazt 28ez
Eiooz Yes, we are in the same class!oM 25 &
8ol in the same classE A42f510{ Yes, we are.2 EsHof
SiCt beSAL 05t BE20| 42tzl= ZR0ll= F0i2t beSAE &
o510 MX| A4S0l RS

22 MEe Nadiras 22 B0l Hg XS LUTh & e Jof M
Alo] =7QIX|, Fof mubAo| ofC|QIX| 21 gstn ooz 4
O-I A'XI-OI Oi,xlol |:H§ ?:!% [e]3 _J'K_ %U:I“

23~24] aiM | (A) ofg, of2f=! L 0|22 Sam Ryanoof. Li=
0|2 EAlojok. L 39| £XAH= 110[0F a7 L7t 742 ZE0lsk=
OFf Maeo| HSIE, Lh= ZITED & OFE &3 al.
(B) Sa-wat-dee-kha. Lt= $ttiS0[0k Lol OfHL= Ef= &
Alo|M, BN ARFER XAt 95 ZO0f6H. LIz 95 Z0tH. Lol o
Lol tom yum goongg U0 22| Fofl 2bM FHH Hof 2]

23 @ ‘2= ZJ|Z sitfate BESl= beSAP} ofLjal YutEAt
playE #ct LIHX| iZholis 3218 B3 F0{o| oi22l= be
SAe| &xHE is7t 2o} Sict,

24 (M)t (B)= 2% RHMO| Qjo] U Mzish= 2xtet 1 olKol o
it MFSHT QUCH Sam AHAO| 7HEE Zofeh= OFFt M4o] S
SE M 110] 20| XXzt Ut JUeH, CHE2 ofHL2) Lt
201 Ef= ARRS0| Z0ksl= =Xt 9E AWIE Z0ISiTt 2sin
Qlct,

NEE] )
25 mtay A 71E B
- 3o vzl UL Y BF & 5%

o Hiztof Y2 EHE 1 & 43

26 MUY oezeane gs e 2
TS MX| ZoLt HEel= L8 2HE & 0y

o4 RFIH 071! B2 5%

Accuracy oA BT~ AR 48

Ooftie @F7H 3711 A= 23

Ofied @F7H47H oAl B 0y

Unit 06 |

N

il | 0IX2 Liel 71& ARRIYUCE 0] 7 2 XK= Li2] OfHAIY
48t WARLICE OfHXl= ZIESIAIT Lte]
28 SIS EAFHLICL 0] HARE2 L] OfHLIZLC oL
= 7FEFEYUL, otu= 22|12 FSIAP|= ot L= ol
Lof 225 FE ZO0IELCh o HH2 22 Al Lio| (iSdY
LICE JH= 640|1, oClME LIS maichdLch L=
ES ML

= 2¢20/Q| 7}E2 220 (S 2|0
i | 2 e rstMIR, o212

. 9| 0|52 sl

il

Lok = uSstwol 4

Ltef 7t

0| & Yl Folck,
0|Z2 22| stwoj| Mz H
jLch ald= BitollA =t

Q'I_l
ro
ol
> O
I
E
Il

1'—12 25 %S)HIB.

SHCH 20 AAel

4 oy
I
_IT\_

ol

2
EI\"
_<')F
|_f|J

ohd Lj=

L o.

Kzlofok, L7} 74 B0t
siSE x|k A

r

walet Z0[0}. Bfmrt B K|
LtZ 20| =94,

= Al&1Z A7ME 1 This is ~2in 3], AWl chadol oft
OlZE 0 WA At 0 W TS 301 T OLHTHRAL
o beSAIE 0[5f0f ESBIC) E3 Z0{0] w2} X3t beSAf

£ AMEstn, SXA2| YIS BIEA M

===

NEelll
=I i
N
rlo

J
ol

3| LESAL

ractice Test p. 29

A 1.like 2.come 3.play 4.read

B 1.studies 2.need 3.have 4.plays

B-11.sing 2.has 3.want
C 1.does 2.teaches 3.flies 4.sells
D®

UHESAtS] SIRHFE 3217 a0l ARE MIRlotn=
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Unit 07 | p. 31
A 1.[d] 2.[t] 3.[t] 4.[id] 5.[d]

B 1.plays 2.studied 3.went 4.bought

C 1.read 2.travel(led 3.ate 4.stayed
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Unit 08 | p. 33

A 1.doesn’t 2.don’t 3.have,does 4.Did,Yes

B 1. Mike does not(doesn’t) know my cousin,
Sandra. 2. Did you take a tennis lesson
yesterday morning? 3. Does Ellen come from
Singapore?

C 1.doesn’t 2.sleep 3.Did 4.did

C-11.have 2.didn’t 3.Did

D1.® 2.0

A 1-2. MY o BH22 F0{7t 32018 H40|H doesn’tE M1,
1 Qo= don’tS £,
. Z0{7t 3213 £h40]1 SIRHO|H SRR 'Does+FoH+SA
~?,0|ck,
. A o222 Z0{ ¢ofl Did 7t 2Lt
. 3017t 3013 40|22 "does not [doesn’t) +SAHRE,
. 7{0|22 o|222 Did you ~?
. Z0{74 3013 tt2 HHY=Z Does Ellen ~7
C_ 1.Z0{7t 3918 0|22 doesn’t 7} gttt
2.didn’t Foll= SAHS0| 2Ct.
3~4. 117{0|22 Did, did7} atct,
D 1.zo0{7t 3913 £t40|22 doesn’t7t Latct
2. 117{0|11 OJ2 20|22 Did 7t Y
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01@ 02® 03©®@ 04©@ 05Didshe buyanew
bag? 06®@ 07® 08® 09don’t—doesn’t 10
@ 11©@ 12@ 13 He ate alone, took a shower,
and sangasong. 14@ 15No, theydon’t. 16 @
17® 18®@ 19(1)Does, wear (2)didn’tread 20®
21Q 22@ 230Q 2406

25 (1) speak Korean (2)exercise every day
(3)reads a lot, speaks Korean (4)No, she doesn’t.

26 (1)gets up (2)didn’t go to school, went to school

(3)comes back home (4)didn’t take a shower

N

27 @ 28 oAl g (1) Sorry, but the amusement park
is usually crowded with people. | hate it. (2) Sorry,

but | don’t like an amusement park. I’m afraid of

roller coasters. | have a headache on them. (3)

Sorry, but | don’t have any money. Let’s go there

next time.
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@ — have a toy car
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@ your parentse 3213 =220|ct

eato| MAHY2 ate, take 2 MAHH took, sing2| THEHS
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Unit 09 |

p. 41

A 1.lady 2.knife 3.potatoes 4.cameras 5.

toys 6.fish 7.dishes 8.woman 9.teeth

10. watches

B 1.store 2.Mice 3.pants 4.beer 5.countries

C 1.children 2.girl 3.gloves 4.piece 5.Sheep

C-11.boxes 2.classes 3.city
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D_ M| A: 22| Toll 241 Z SIHBILICE S0I2MIR,

B: 2 OlSCH2 &2 7K1 UZR.
A: 00, 7| Bt T EAZI0IR?

B:of, FMlg. 20t H8

. IS2 AIZE10d 211 Qoo 2 4 store 7 LBt
.are, animalsz =20} 24 Mice7} Lgict

. these2 =20t 24:0|1, pantse 4 S42 LIEFHCE
beer= SXYAIZ 2430 QiCt.

. Are these2 =0} 24 countries7t Ygict,
childel =22&2 childrenolct,

. Yof ano| Yoo thaert Ygirt

. gloves ®2 0|222 24 gloves7}t LaiCt
. ol avt Uea 2 H piece 7t E0{0F STt

. Sheep2 &0t S4-0| FEH7L ZTh



= coffee, cream, sugar S2 A 4 gi= HA0|22 2480|
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Unit 10 | p. 43

A 1.an 2.a,The 3.a 4.The 5.X
B 1. An earth —The earth 2. plays guitar — plays
the guitar 3. hadalunch—had lunch
4. altalian singer — an Italian singer
B-11.A—The 2.an—a 3.piano—the piano
C 1.anewcomputer 2.two hoursaday
D®
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01@ 02® 03keys, knives 04@ 05@ 06@
07 080, ® 09@ 10® 11 hour—hours 12
(1) two cups of (2) a pieceof 13Q 14Q 156

16 (1) There is an apple in the basket. (2)
Give me a cup of coffee. (3)1 drink two glasses of
water every morning. (4)| have three puppies ([dogs).
17 (1) They are beautiful ladies. (2) They are very
cute children. (3) These are really sharp knives. (4)
Those are delicious tomatoes.
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18 ® 19 School Soccer Tournament, practice
(play) soccer, after lunch, the school playground
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A1© 2.0 3.
B 1.Whereis your house?
2. When does the class begin?
3. Why does he want the book?
C 1.Whyareyou late?
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Unit 11 | p.51
A 1.What 2.Who 3.Whose 4.Which
A-11.What 2.Which
B1.® 2.@
C 1.Who are the ladies?

2. What subject do you like?
D ®Whose ®What

A 1.many 2.tall 3.long 4.much
B1.0® 2.6 3.0 40©
C 1. How many tickets do you want?
2. How often do you clean your room?
C-1 1. How long s the bridge?
2.How old is the temple?
D How do you go to school?
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01@ 02©@ 03Who 04much 05® 06Why 07
@ 08 How 09® 10 How old is Sumi? 11
Which 12® 13® 14 Whattime do you go to
school? 15 How many hours do you sleep 16 ®
17@ 18@® 19® 20What 21Q® 22@ 23D
24®

25 (1) She (Mijin) has six classes a day. (2)
[t(The lunch time) begins at 12:15. (3) She (Mijin)
has science and Korean. 26 (1) Who is your best
friend? (2)When is your birthday? (3) What is your
favorite subject?
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Aguilera because her songs always move me
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A 1.took, 24 2.is, ®xf 3. come, SiXf 4. hosted,
A
A-11.had, 2t/ 2.fall, S8 3.was, 27
B 1.am,is 2.visited 3.read 4.rings
C 1.opens 2.landed
D®
A 1. SMeQ AFZt 0|2, last summer = TS LEEFHTE
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1. working 2.swimming 3. playing 4.studying
5.coming 6.reading 7.stopping 8. making
9. getting 10. smiling

1. HeisHe’s) playing the piano.

2.She was reading a book.

1. lam (’m) riding a bike in the park.

2. They were having dinner in the Chinese restaurant.
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01@® 02® 03® 0O4was,am 05@ 06@ 07Q
08 was talking 09 ® 10 was making, were playing
1M® 12was—am 13® 14 He is talking with his

friends.
library.

15 They were studying English in the
162 17@ 18@ 19Iwasn’t 20@ 21

@ 220 23@ 240
25 (1)is studying at school (2)is doing
(his) homework (3)is watching TV (4)is sleeping

26 (1) Are you reading a book now? (2) Did you visit

the museum yesterday? (3)Were they dancing then?
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27 @ 28 (1) is riding a bike (2)is walking her dog
(3)are jogging (4) is reading a book
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3. L= 4l 2ol et Sk,
4. U= LIS OfSlfSIX| ZEX|= 2EL,

B 1.1cannotspeak 2.Canyouride

3.Maylgo 4.Shemaynotgo
5.You can call
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D_ A1 A: 9 M 40152 ARIAS Ef /0],

.can ~& 4 QlcHsE)

. can ~sl= ECHE7h

. may ~€X|= ZECHFE)

. may ~sh= ZECt(s171)

. cannot ~& = gick(can2l £%)

. cang| 2222 "Can+F0+SAIY ~?,0|ct,

. May | ~? ®M7t ~slz E7te?

. may not ~0| OtX|= 2ECt
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A 1.be 2.is 3.tomorrow 4. notgoing
B 1. Tony will not won’t) come to John’s party.
2.ls he going to arrive in Seoul tonight?
3.1 will(am going to) write a letter to my e-pal
tomorrow.
C 1. Willyou have
2.am going to read
D®

. ZSAt Floll= SARE>0| 20k,

. He?l 0i22l= beSAt= iso|ct,

. Will2 D[4S LERACE

. be going to2| £82 be not going too|ct.

. willel 252 will not (won’t)olct.

. be going to7t MQI 2X2| Q222 beSAME F0{ Yoz &
G

3. tomorrow= 0240|22 will == be going toS MAf OJ24
£ LIEfACE

1. wille] ol22: "Will+F=0H+S AR ~?,

2. "be going to+SARE,: ~&t oiIFo|ct

5HA1 | 4= ol oS0l | & HLI? Li= Rutofl 2 7ok, 22| 7IE2
7IXIE EfD 747 |0fl & 7ok, R2l= +Fat HAIE & 7ok

= @ be going to CI20l= SAFKIEO| 2t swimming —
swim
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A 1.torecycle —recycle 2.cutnot—notcut
3.has—have 4. helping—help

A-11.doesn’t—don’t 2.wearing —wear
3.has—have

B1.® 2.@ 3.0 4.0

C 1. must not smoke here
2. must not swim here
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_ 1. should+SAIE: ~sflok 3ict
2. must not+SAE: ~sliAl= oF Eict
3. don’t(doesn’t) have to: ~&t Ee7} Qict
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R T p.78
1@ 02@Q@ 03mustnot 04@ 05can’t 06 must
08@ 09@ 10 You should be kind.
11D 121’m going to play tennis. 13 No, you don’t
haveto. 14® 15@ 16® 17@ 18@ 19Q 20
® 21©@ 226 230Q

24 (1) can make spaghetti but she can’t
make pizza (2) can play the guitar but he can’t play

07 may (May)

the piano (3) can speak German but she can’t
speak French (4) can ride a bike but he can’t drive a
car 25 (1)are going toWwill) visit the museum (2)
has to (must) finish his homework, can’t do (3)is
going to Will) help

G N

26 D 27 oAl & (1)1 am going to go to my grandpa’s
farm. | will help him. (2)| am going to go to my
favorite water park. | will have a good time with my
family. (3)1 am going to go to the museum. | will

enjoy paintings there.

—

ZEA THB0I= e SAEEO] 2fof Bt

2 OIS LIEHHE will2 3742 LIEHHE 2 last night(oi3ghat

Of22IX| Ph=Lt.

3 must not2 ‘~aliME o SICf 2f= 3X|2| S5 LIEHHCY,

4 have toe ~afiof BiCt 2t= SE0|m, F0f7h 2Q1H0|22 has

to= 2 + ¢giCh
5 XIFH7HE Z EHX| 25122 can’t(~& 4 QiCh7t Lt
6 X BXIE oI HEOF 5122 must(~aHof SIChH7E YTt
7

may= FE(~2X|= RE0hnt s2~sli= Bl 2jolE = ot

Zm Qlct,
8 @ wills —will ®go — going @ goes —go
® buying — buy

9 oIzt flo| LgoR Hot 2Mo| FHio| YT Can you ~?2

RS2 No, | can’t.2 Esict,

12 Mgt s

~aoF Bitt, ~ai= 0| BACF 2t £o= Rt &
ik ate 0| x|

Qe EQ2l0|7| 20| 1=

Z07t He(3¢!

10
11
12

13
14

15

16

17

20

should= “~af= Z0] E3C¥

Kenzt Sallie =i=X| 2= Ho|22

2= o2 &
May 7t Lsict,

oIYE AlElg 2et o be going toS #cCk

don’t have to= ~& ZQJ} gicY 2k= S=o|ct,

sk ALk,

LIHXl= ~slie 0t 2k= 51719 ojo|x|gh @2 ~YX|z 22
ot 2l= £&9| ojojolct,

st 9|25 LIEHHE ZEAL mustE have to2 B £ £ U=
ol, :0{7t 321 £~ = has to2 #ct

LT ZX|2HE7, 3 flof FUIE &

X)), 2k= 2lo|E el ZSAPt Lok XigA

et

LIoiXl= be going to CHS0ll SAFREHO0| °fM ‘~& Ao|ct 2k=

01I’SE._| AElolLt ZAS LIERHXIEE @2] be going to= T30l &
LIEHE SAZE Y ~0i 712 Q= SOICF 2k= 2joj2] SHxl

Aol

EINAD,©,Q), O ~UX|E ZELl 2= £o2 FES LIEMY

X2k @= ~alie B 2hs S22 5715 LIEHHT)

LIHXl= canol 7k5S LIEfLO] ~& 4= Qlit 2k= L2 2 be

able too HIH £ = UAX|EL @2 cang "~ ECf 2h= 51712

O|0|S LIEFHCE,

21] stia | MAF S0l XIBQF 19| FTES LIRS EHHR

AlRtg 7HEICE & gojLls ZEaHICE Ue 25 uE SiLE ¢

=1}
AT 7L CIE MHES &2

& 01, L= OfZlolSoiA| Stxt
E71EE 2 WK
oF YOMHAl= EESHCE L= FRIVIE 1Xl= As ZofetHt
Ch Li= W THS2 T AIISS 2ol & 701" MioI7F 23t A
REAE 0™ T4 4 ACMR? J2{H M7t g F L2 =
A O ZH2 BHE0] 2R FEol Q= 2571 37 R=

=Lt
2= Anyone can help others.2h= 22 Saff =
L XHAO| 7HEl IS OI85H0d T2 Mg =2 + Qlth 2= u
o

ol

£2 209128 o 4 Urt,
28 flcane ‘~sH FAOIY 24 oflel wEolL 23 Lic

23] M | Ll
Ch O LY L=
FE ffet L AI=lo] et

Lk= LH7F 7FS Z0tsks 2E — ikt B&h J2|0 HFRH A
— 0l &F 12E2E & AO[Ch L= 5 7IES ool 22 NE2
AR BiTE Li= ofoLoi7l E2 HE[EHS Als Ol 4221 & WO
Ct. OfHLI= O ZO0f5H Zio|ct,

L= W =iX] ME2S0ll 3E2iE 25 Aol U 2dol= ==
MERICL

LHEofl Lh= o] =02 MY ST XRHHE 4 Ao|ct
orzz|7re] FFE ofZlo|SolA 1S 2 Holct a2 B2
ofZlo|SolA E%OI 2 Zolct,

EXPIR=re=l

=T o

LIoIA 20E2E F4
Mi2Ct 07| 2

r
W
T
1o
o
0%
gl_l
=
II}4
X
ot
ru|o

2t= 2jojo|=Z, %Z E%’!OH I1—§-?JEF LI HIZ CHE2! ©ofl S04

7k A0| 7Ky 5tk



23 ZEEH ALl SES M1, 71ES st RS WES AICHD KTt

7iEE e AlME SRt A2 B0 AKX gLt

%

M= )
24 wiad | AIE B
can/can’ts MA 2 25 kg 53
Fluency can/can’tE MA 32ES 2HdEt 43
can/can’tE WAl 1~2282 2tast 23
TS MX| ZoLt HEel= L8 2HE & 0™
Oy 2F7H071R 22 53
ol 287} 1~27HQ1 AL 43
Accuracy
Oofe @F7H 3711 A< 23
Ofe RF7H47H ool < 0d
25 mad | AEvE i
U2 ZSAIE MA 2EE 2F 2t 33
U2 ZSALE MA| 222S 2Hdt 23
Fluency =
USI2 ASAE MM 12EE 28 13
TS MX| ZoLt HEel= L8 2HE & 0™
ol 2F7H07HR! 22 3
ofHe @FTH~27HQl B 23
Accuracy
Oofe @F7H 3711 A= 13
Oftle} @F 71471 Ol B 0™
G N
26 M | o222 MAS Ho| Hn FANoR 283 4 QBLct
A B25| 4TI HE = UBLIH SIXIS HhE TI2cH, 0]
2E AS0| A EuCh %2 K229 ol i sHES
Lich OR2 o2i2e] £HS ShEAIZ AYLIch E5 a2 Efel
o] Aoz i< SHESLICE XHls AlFSHIR? J20HH XIg §
A ettiE 2ojof BiLich
= XpAl} ElRI0] 712i0] 2L XIS TEX| Qb=rtH, 1A ¢
gt CIE &#S0| %9 ¢

27

Zl0|Lt Zalg LiEHHCE SH will2 “~& ZoIct ~sta{n Stk

9| o= 22| GIE0|Lt Z|2lS LIEFHCE

Chapter U8 | 22| Z&
Unit19 |
A10© 2@ 3.@ 40 5.0

B 1.doesn’tshe 2.isit 3.Which 4.Didn’t

C 1.and—or 2.doesn’t—didn’t
3.Don’t—Doesn’t 4. What —Which

D 1.don’t smoke, do you
2.athome orat work
3. Which do you like better
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Unit 20 | p. 87
A 1.Don’t 2. Let’s
3.be 4. What

A-11.Don’t 2.Cut 3.Let’snot
B 1. What tall buildings they are!
2.How old the caris!
C 1.are—be
2.Doesn’t—Don’t
3.goes—go
4, How —What
D What

1. BHHEAZ2 Don’t 2 AIRISICH

2. ~SIRf = Mok Let’s2 AlRfsict,

3. Y22 SAIHEOZ AIZGIER be 7t Uit

4. a7t Yeoz Whatoz AZGh= ZEHZ0| aict
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O +SAH,

2. How=2 A&l ZEHR: THoW+SSAHEAD +F0{+SAtH,
1. are2| SAIHE2 beolCt,

2. BMHA22 Don’t2 AlRfSiCt

3. Let’s FHoil= SAtS0| 2¢t,

4. a7t 222 Whato=Z ARfeict,

5lA1 | A: OIHE2 Hof? L= o] MBES 7IZ2L?

B: 8. L= AS52 % 20l L= 2S0i7 Th 0[0F7 [aH.
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01@ 02@® 03 Which, or
07 @ 08turns—turn
10® 11How 12Don’t play computer games too
much. 13 Let’s go skiing tomorrow. 14® 15@
16@ 17@ 180 19@ 200D 21@ 22©Q

23 (1)No, he isn’t. He is 35 years old. (2)
He is from Canada. (3)He teaches English. 24 (1)
What a cute puppy it is! / How cute the puppy is!
(2) What a beautiful flower it is! / How beautiful the
flower is! (3) What an exciting movie it is! / How

p- 88

04® 05isn’tit 06D
09 awonderful garden

exciting the movie is! (4) What a big tree it is! / How
big the tree is!
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25® 26isn’tshe / Yes, sheis.
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Unit21 | p. 95

A 1.good 2.beautiful 3.fast 4.happily
B 1.He’sanold man.

Unit 22 |

2.Heis a good soccer player.
3. He never eats meat.
4. Please be quiet in the library.

1. Martin swims fast. 2. Nicole works hard.
1.@ 2.® 3.0 4.@
A= HAE AGH7LE beSAL FI0IM FOE HYGID, BAls

SAL HEAL CI2 2AIE fAIBICL

1. SEA= BAL ol RRISL

2. YEEAILHAIE fABICE

3. BIZEAL= UBtSAL 0l RIS

4. beZAL Foll= &EADt2CE

SEA-EAL: careful — carefully, fast — fast, hard — hard

HIEEARS UBEEA} QO|LE ZEAL be SAF Fof YIXISHT,

p. 97

A 1.older 2.shorter 3.heavier 4.longer
B 1. higherthan 2.theoldest 3.fasterthan

4. the most expensive

B-1 1. more important 2. the longest

C 1.earlier 2.earliest
D1.0© 2.0

A_
B_
C_
D_

HlwZ+than,: ~2CtH -
the+2145,: (A 0|4 SoflA) 7Hf ~t

early (&%) —earlier (K %) —earliest (71 L=)

1. "Which ~ t|mZ, Aor B?,: A2t B 5 of= Zd0| o ~5t7? /
good 2| HluZ2 better

2.in the world MiAoi|lAf

R T p. 98

01@ 02@ 03|usually play sports 04@ 05
Look at the beautiful girl. 06 Mike plays tennis very
well. 07 new 08 more expensive 09@ 10®@
11® 12@more ®than 13 ® — What does Mike
usuallydo 14@ 15®

16 (1) Tom is the tallest. (2) Ann is the
youngest. (3)Bill is the heaviest. 17 (1) runs fast
(2) drives really carefully (3) don’t sing well

G N

18 @ 19 dilAl & (1) Sorry, but | have a runny nose. |
can’t go out in this cold weather. (2) Sorry, but my
parents are away. | have to look after my sister.
(3) Sorry, but | have an important family gathering.

It will end late.
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Unit 23 |
A1

AAIS T=

3. 2=0IE HiR= A

B 1. AL 2. 8A

B-11.3A 2.88
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C 1.tostudy 2.toget 3.tosee 4.toread

D1.©O 2B

3. to =AWt
4, to‘="‘W7 t

16

1.toR2™APLhope2l =
2.todo7t %‘)\fworkE

’5101

+
r@
o

3. ~&AIZF 22 time S $AlSICE

4, H0{ S5ig it

5. 29| oIS LIEFHCE

1.is Foll 207t Zesict

2. Z%59| olg LiEH= Zo| Eesict,
3. BXS LiEhE= 2ol ZesICt

4. some comic booksE

£ A5 o] Zesict
to BFALE to+SARYE, | FEHOICE
1. (C) —to cook 2. (B) —to make

T p. 106

01® 02@ 03timetocook 04to 05works—to
work 06torepair 07@ 08®

09 (1)to be become) a singer / to listen to
music  (2) to be (become) a fire fighter / to help
people (3)to be (become) a teacher / to solve math
problems 10 (1)to the post office to mail a letter
(2)to the library to do their homework (3) to the

supermarket to buy some milk

G

N
11 @ 12 (1) the students to be quiet (2) to study
(3) are raising their hands (4) to say something

(5) to listen to music

US F A| 2P 2k= 20| E2H to buy 7t Yot
@ ol ARl~shM)S LIEILHZAH toFHAt 20k Stk
—to lose

‘Q2[g AIZF 0j2k= 20| E[0{0f St22 HAL times toF
cookO| SoilAf LAlsH0F BTt

wantse| S=0f
t07|. OI-DI-L'_I.
SAtwork7tis FollM 2o Hgk
Bobol xtuof 7t 20| XpH7

lost

At to

S otu, ~& Zoict 2 oIFS LiethzH

Ak
S 521 to ™A} =I0f0F BiTt,
IXl= Aol22 EXS LIEKY
£ to repair7t gact
7~08] siA | L7oilA,
Ak & =M AKZ0| ok20fl Rict Ohitk= 0] HXIE Toksl
Jet 7+ 2lNct 19| 0j22 Vincent van Gogholct 1
2= ol sptolct J= W 18kl Arlese| S4S ARISICL
2= 2% van Gogh M= SN J2lg J2|1 UIct #
I{ 20il, Z= 04X5] 220 UACE L= I0IAIZ TH LR
CHASIMIR, van Gogh M. 2412 EHY ORfolM H ARFS ERi0]
.:.*é! Ak sHELIRY" O= CERCL '@, T *'Ak k= X2
LR, VIS FA[Hs| Ush= FAMH stof otz
01IE 2oy TS J2|n Al el oIEI|°| 471 XA
0f0f 5t22 paintingo| 2fof sich @oll=
ALK 2h= 2Joj7t =|0fof stEE FX0]
to have7} gttt
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8 He loves the scenery in my hometown, Arles.0llA

Gogh7t ‘Arles’ 0|2k= RO 2SS ARMSICID §iCt
N E )
9 =iy A 71E B
TA} HES Sh= to FHAE MA 6EXS 25 28 3H
Fueney | DA GRS SIS toRBNE M 4TS BiNE  2H
A HES SHE toREAE MM 2B RS Bl 1X
TS MX| ZoLt HEel= L8 2HE & 0y
oy @F7H07HR! 2 3
e @RITH~271Q1 B2 23
Accuracy
Ooftie @F7H 3711 A= 13
Oftied @F7H47H oAl B 0®
10 “wrige  [mmoE i
HAL SISIZ S to R TAIS MA 32NS BF N3 3%
SIS Sl to R A MA RS BN 28
Fluency = -
HAL OfES BHE to R HAIS A 128 2E 13
g Mx| FopiLt AEglEs LR 2Yg B 03
ofie @F7H07HQ1 22 33
et @BTH~2HQ B 23
Accuracy
olgy 2871 37Hol 72 1=
Ot @F7H47H ol B 0
G N
1T 3HA | o Liglollids MS0| M2 WP7| s 2ol Hert O
S2 ST AIZS0| OISErtn MSicE OS2 02 6ds2 2
MZACHD MZISHE T2l R LiztoA GME2 DI ZE &
SICh J2iA AIMES SWGHXIZ| Sl XA HieCt Midel 32 X|

oM AMHE2 o A2 LIRS 27| 26 MES SHXI2 E CE

OfF X|HollA=

= O 912 LRE o Zole7|= Bt

= 0] 22 Li2i0tch &idnt TS0l oigt OlSCtEel 7I=0| o=

Ch= A2 iz
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Chapter 11| 2ZI2| SHEH

Unit 24 |

A 1.is 2.five letters 3.aren’t 4.bread
A-11.are 2.aren’t 3.Is

B 1.Thereis

agirl 2.Arethereanydolls

C 1.There are many pencils in the pencil case.

2. There are not (@aren’t) many monkeys in the cage.

3. Are there many white clouds in the sky?

D®

A Sloll Li2E HADLE4 Ee A 4 gl HAO|H (S8, 240|H

areE 12Ct

B 1. Thereis a(n)+&t4s HAL~ 2| FEfo|Ct,

2. "Are there any+24 FA} ~?, FEf2| Q|2 20]Ct,

C 1.=22 HArYol= be=Atare7t 2t

2. There is(are) ~ .o 2822 beSAt ol not2 =Lt

3. Thereis(@are) ~.2| 2|2=2: Is(Are) there ~?, beSAIE 2
Aoz Jilict

i | L= 25 OISCH2 SHEg 1 QUCh LY FHo| B2 ARE0]
QUC}. Lte] AEEQI Narae LiofiAl e S Sict L= JHoA Ko
ZC} EfXL ol o ng S400] k. ARES O SAlg &It
JE2 0[07|E Li+1 =Lk

= foode M £ gl HAlolCt w2tk There areZt ot
There is7} 2fof sict,

o
ol

og

Unit 25 | p. 113

A 1.taste 2.sounds 3.looked &4.smells b.feel
A-11.taste 2.sound

B 1.Ifeel great (today). 2.You look beautiful.
C1.6 2.@®

D®

A taste ~&tgto| Lict sound ~&H Szict, look ~3at7 Holct

smell ~&t A7} Lict feel ~&HA| =ict

B_ 54 11. 252 7120 ofuf? - L (245) 7120] 0 Zo0t,
2. L7t o] EIAS 2oL ofuf? — OFSCHY Ho,

C_ look, taste= ZZSAl0|22 ol HEAPt 2L,

D_ @sounde ZZSAZ Sofl FEAPH RN~ S2lcf o] =2
LIERACE sounds greatly — sounds great

Unit 26 | p. 115

A 1.wrote meapoem 2.sentme atext message
B 1.boughta puppy for me
2. told many interesting stories to me
B-1 1. got a model car for me
2. passed a ball to me
C1.2@ 2.0Q
D®

A FOHAOISAHZIESHONERIREO] : ~o| -0l - 8 Ct
B_ 1. 43A00M 38AI0= 2 1 buy'= ZHIZE{0] 9ofl FxIAL for

£ &
2. 43H0IM 3FMOR B 1 tell2 2RO 2ol TR to
g2n

C_ 1. 220} ol HANES BB Ofd SAVE UUSK| & 4 Uc,

for me& 20t made7t gttt



2. A7} askedol22 ZHHE 0] 2to| FIAALS of = Act 1 There are o= 24 HAP} 2cf @ T4 HA|2Z 2t

D sliA | 2ok 2(007| 7HE ZEMCHEELE 1 7k @D Hee S0 X| Q.
2oIct Aok= "1 Jh= Tol o, JHollA B82S Al Fo HEI TS 2 =XZAR0Z toREADI 2 2022 kepts YUX| gicf,
ZRL"2fn LESHICE 3 Is there ~?2 22H Yes, there is, / No, there isn’t.2

=» @ givees “~OA S FCt 2= 20|12 Tgive +ZFHEX0]
(him)+ ZIP==Xo0i(a bath),Lt "give + ZIT=Ho0{(a bath)
+to +ZF=2=0i(him),2| 0j&o=2 #Art

it

4 £0iSAL givelt teachs ZE=H07F HA 21 1 Hofl 2=
Ho7t 2 m XA toE #LL

5 HIFL| Qlof Akt & JH QUEX| S R20|C At 37HES)
ooz There are ~.Z 02510 CHESICE

6 B L2 ‘o] WAZ White Mol ~8 MR 2l= £o2 71
20 ol to7t U222 send 7t Uit

7 ZCISA FHoll ZFH=SX0{7t HIZ LIS mhs MXIA} B glooz
She bought us some food.2 1o} Sict "HR|AHZIES
H0j,E FI2 2§ She bought some food for us.2tx si=
2Lt

8 advise= EXZAH0|Z toRTAP} 2B2 exerciseE to
exercise2 X0} Sict

9 @ taste= FBAZ 202 Fsk= ZZUSA0|2Z sweetlyS

Unit 27 | p. 117

A 1.made 2.me 3.easy &.tovisit
B1.©@ 2.@
C 1. called the prince Big Smile

2. advised me to drink lots of water
D 1. X7 78 R XISHAL

2. L SH0| LIE St 2rSICt

3. O U7 2 AFHAE MESHE XS SRR

A 1. 'make +2X0{+ ZXAHO(HAD,: ~S 22 DHSC} sweetZ Tx{0} it
2. call + X+ SHZAH(HAD, : ~2 -2l B2Ct 10 T20IEAF+ ZHHERO|+ RIMER0|, = A0S AF+ EIHE O]
3. find +SX0{+ SHALH(FHEA,: ~0| ---2h= HS YLt AHZHEER0],

4. want +2H0{+toREAL: ~0| - 317|S sl
B_ 1.findel 2xz=0iz #2Apt Yt sadlys 2Ajolc,
2. tello] 2XZ=0|2 toSHA 22T 20|22 There is ~.2 Bai3ict
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12 *~o| Uck’ & There is(are) ~.2 EHSICE ZOIX| 3t Of2l= &

=
D_ 1. keep +Sx0{+ 270}, ~2 --5H RAISHCH 14 tell, pass, send, shows ZFEE50] Yol FRIAL toS MX|oH
2. 'make +ZS=0]+SHAZ0(FBAN,: ~2 -5l TSCh
7.

make= TX[A} fors £t
T 2x HERAL A0 -5 12 Siats|
3. allow +2X0{+toF&AL, 1 ~0] --3H= RS S5tk 15 Lixe 2= SRZALO{0|Lt @0 an orangeE NN gave

o| 2= Ho{o|ct.

R T p. 118
01@ 02@ 03@©@ 04to 05There arethree
applesin the basket. 06D 07Q® 08@ 09®
10 a love letter, her 11 the book 12 Thereis a
puppy under the table. 13 My present made her
happy. 14® 15@ 16@ 17@ 18G 19®
200 21Q® 226 2306

24 (1)There is a picture (2)There is a shirt
(3) There are two balls (4) There are three books

16 Arethere ~?2 229 Cigfe Yes, there are. == No, there
aren’t.2 §ict H17F Ch30l| 0|0X|= 289| L4 29| gol &f
St

17 ZzisAtlook CHR0ll= FZH0{Z HEAP} QJ0F 5122 @7} Ygict,

18 ask7 zr==oio ZIM=x0{of siEshs F 712 2X0i1E 7ixl=

2HSAIE MY [[H 72RO Q0| MX|AH= of 2 2L}

19 (27D @ 25 "FOHSAHSHOHSHZR0],9| A 72
olct @ UZSAHEEAL L 2-A! T2 @ SOISAZE MO 48
T2 Q@ £HSA 201N ZFESX0I -S| YIXI7} HFH 3
odAI __rl_,_ @ Ex-lo-lj o|’L}'°| 3—4A __,.LE_

20~21] sa | %ol 22|= X2 LES S BXl= §t=20|
TE B0[0ct. ARIE2 SRIZ2 M, EiXL 32|10 X0 R7VIX]
DHECE Rachel2 xhle| TS0 ofF RHESCE = L3

‘L= 0] ZEZS L SSMolA| M MEZ = 7o}

=2oc=

25 There are some cookies on the table. They look
delicious. My mother made them for me and my

el

friends. My mother told me to share the cookies
with my friends. The cookies will make my friends

= oo o

happy.
G N

26 M 27 (1)is a bag next to the door (2)are two
boxes under the desk (3)are three apples in the

20 £0SAP}E 72| 2X0IS S 0, SAt L0 ZFES (A7}
O FMX|AKs TRSIX| it

21 Rachelo] 7} Z0f5H= 812 2410| RAQIX|= tZ=|0f UK| QL

22~23| sliM | J2iLt 22 del2lote ok HE Z2 HiE2joks E

o] = ehoile &1 QIoh 3S50| =8 =R, 842 SAlE At

r

II})I

basket (4) is a school uniform on the bed
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Fluency -
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oA @27} 07H0) B 5%
Ooftie @FTH~27HQl B 43
Accuracy
Ofe 2F 737021 B2 28
Ofe RF7H47H ool < 0™
25 mtad | AEvE i
Ofe0fl S| &2 25 2HE 53
ofzofl S 4282 gt 43
ofz0fl 57| 32 &S et 3d
Fluency -
o0 57| 22%S et 28
{0l WA 12ES 2t 13
S MX| ZoL Etgls Ui 2¥e & 0
ofHe 2F7H07He! B2 53
Ofe @F7H7HQ B2 43
Ofe 2F7H 27121 B 3H
Accuracy
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Ol @FIHA7HI A= 13
OfHe 2F 7574 ool < 0
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A

Unit 28 | p. 125

A 1.at 2.in 3.at 4.on

B 1.before 2.for 3.until 4.in 5.around
C 1.in 2.on 3.until

D @during ®for

1. AR A2t Yoll= atS 2Lt

A_

2. 9= Yofl= in2 £t

3. at noon EH20j

4, EX5H  Yoll= onS 2Lt

1. 0{=2 = sy | Mo|22 before 7t Zaich
2. for+xI=Rl 7|2+

3. Fofl Alzto| L2222 untilo| gttt

4.in the evening X

5. around ~Zof

1.2 Yoll=in

2. 'on+2%-s,: ~ofct

3. until ~7Ix|

Al | A kst Sotof 232 JL?

B:Lt= 7I5S1t 87l OIHE.| 2404,

A:4710llA] Lott UAL?

B:23 32t a30f A0,

= ~ Sofol2tn & mf £ 7|2t Yoil= duringS, 7RIMQ! 717t
Qo= fors £t

Unit 29 | p. 127

A 1.at 2.on 3.over 4.up

A-11.on 2.under

B 1.to 2.nextto

C1.@ 2@

D 1.Acircleis over the line.
2. Acircleis under the line.

1. 52 HALE AN Fa ool atS 2Lt
2. BHO| IEsHM ~ 2ol = ong &ct,
3. AZHEON ~ 2ol = overs £ct,
4. '~ Q2 =upS 20t



B 1. ~o=Zzln =XX|E B5E 0 to= LL} PRy
2. M2 LI2t5| ooz ‘~ Fojl o S22 next to7+ LTt 4 2% oll= on, A= Aoll= ing £ct
C 1.2 Yol=inS 2Lt 5 HlmX F2 AL A EA Yolle atS £t ~ Hojf2tn
2. ojoj4 ' otoZ 7t oi2a|2 2 into 7t YLt st 1= beforeS 2ct
D 1. 0| Mt EHOM 9ofl YODZ over= WA ESIsICt 6 from A to B: Aol B7Ex|
2. 20| & ofeiofl o{xt Yoo unders M EEEICH 7 =3t Uz 2ol ind o
8 '~ ET2n WESTIS LIEH = Ty + WE4THOR LiEHCY,
) Q9 TESH MEHolM ~ ol 2t & = onS 2t
Unit30 | - 129 10 S%IAL Siol chert 2 s HA 2Rl
A 1.between,and 2.from,to 3.because of 11 =Zo| x5t gremo)| 9002 across fromo| ottt
A-11.to 2.around 12 et 23 Afolof Y= e MEo|ct
B 1.with 2.for 3.around 4.to 13 ©® 2 = Fojl A=z There’s a book by hext to) the

vase.2tz 5f{of Sict,

14 (1) 7H72l7} 2402 HoiS1 Q202 into(~tez)7} Yattt,
(2) ol Z0ilM Toixd 1 12 L1 Yoo Z over(~ of)7t Lgict,

15 because ofe ~ W20l 2= o2 1 FHofl (CHFAL E= BAt
Tt 2Ct Mgt £5 2ol stol| ZMeo=Z because of a
terrible headache7t &gttt

16 UmRl= 25 ato] LRSI, ©2] AE Yolls ing £t

17 cr2i7t el EHo| 22 240] OlLIZ2 on o] OtL|2t over7t YLt

C 1.by 2. with
D 1. between YumiandBill 2.acrossfrom Bora

A 1.betweenAand B:A2tB Afojof
2.fromAto B:ASE B7IX|
3. because of : ~ =0

B_ 1. ~2lolo}7[GlCt 2H= 0] Elofof Bt

2. U 9I5t A& olak= 0| =lofof BiCk
3. 19| & Z9I0fl 2H= 0] lofo} Bic, 18 on2 et Jolt 22 o) = HAIAOID, PIXIS HEH the
4. ‘ME2 ZOISICF 21 0| El0{of Bt R0l 22 NEIY 0 2t @ Maye} 22 o Yol ing &,
C 1. ‘54 oof o ‘WA= EFIT 2h= o|ct ]9 arounde "~ F{0f, ~ Safloff 2k= 501w, into= ~ oto' at
2. weo HsH a2 HER Bl Ko clole SEE ek TRl
D_ A | |
2. 7122 i aremo) oot Ut 21~22] 3H41 | Buy Nothing Day’ & 11&9| Uimj & 2o|ct,
0l &, 4004 71 =710 B2 ME2 O A= AK| g4=Ch O
A= A = = A2 o Mefy|e BHEX| k=rf = g 9
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01Q 02@ 03® 041 05at, before 06 from, to
07in 08forcar—bycar 09inthe wall —on the
wall 10 ® 11 across from 12 bookstore 13®
14 (1) into (2) over 15 because of a terrible
headache 16® 17 18Q® 19@ 20Q 21®
22 23Q 2406

25 (1) on June 29th at 6:00 p.m. (2) at my
house 26 (1) the library this Sunday (2) at two at
the bus stop
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OISt gAlo] Mej7|E E BHEH, o 7S XIFE BHE 4 Uk

‘Meatout Day’ = 32 200|ch & M7 B2 ARIES 5
2 S0 o 17| ox| k=Lt 0] Hofl Eodstat, 2iH 2 o
A Zolck, S PR 2ATIAS =0|1 XIRE 7 4 ok
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27 @ 28 oAl & (1)A boy is putting his choice on the
counter. (2) He is looking inside his wallet and he is
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surprised. (3) He is calling his mother for money.
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A 1.and 2.or 3.s0 4. but
B1.@© 2.© 3.@ 4.0

C 1.and 2.but 3.or 4.so0

D 1.She saw me, but | didn’t see her.

2. I study French, so | can speak French.
3. The shop opens at 9 a.m. and closes at 5 p.m.
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C 1.whenyou get stressed
2. before he goes to bed
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A 1.because 2.If 3.that 4.if

A-11.if 2.that

B 1.1think 2.1can’ttake pictures
3.She’ll be happy

C 1.l can’tunderstand him because he speaks
French.
2. If you don’t have breakfast, you’ll get hungry
before lunch.
3. I think (that) soccer is an exciting sport.
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